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Probabilities: q 1-g
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Options [ [
- p | 444 -30

Collins's expected loss from b: -53 p + 44 (1-p)
Collins's expected loss fromd: +14 p - 30 (1-p)
Rose's expected gain fromB: -53 g+ 14 (1-q)
Rose's expected gain from D:  +44 q- 30 (1-9)
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> p = probability Player 2 uses strategy CEEEE.

, The horizontal axis is the p-axis for the red curves.
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The right ends of the blue lines represent what happens when a=1, i.e.,
Player 1 always chooses an A position. The EEEEC number goes to p =0
2 (all EEEEC) and the CEEEE number stays at p = 1 (all CEEEE). The red
"AIl A" line connects these points.
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The left ends of the blue lines represent what happens when a =0, i.e.,
Player 1 always chooses a B position. The CEEEE number goes to p =1
(all CEEEE) and the EEEEC number stays at p = 0 (all EEEEC). The red

"All B" line connects these points.
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